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TEST PAPER- 1

Which of the following statements is/are true concerning the

Comptroller and Auditor General of India?

1. The President removes the Control and Auditor General of
India in the same way as the Chief Justice of the Supreme
Court is removed.

2. The role of the CAG in the audit of public corporations is
limited.

3. The work of the CAG in India can be seen as a legacy of
colonial rule.

Answer the question using the code given below:

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 1 and 3

(d) All the above

By which of the following Acts the inclusion of Indian
representatives in the process of law-making was started?

(a) By the Council of India Act of 1861.

(b) By the Council of India Act of 1892.

(c) By the India Council Act of 1909.

(d) None of these.

Which of the following statements is/are true concerning the

Council of India Act of 19097

1. It gave the right to ask supplementary questions and to discuss
the budget.

2. Under this Act, for the first time, an Indian was included in
the Viceroy's Executive Council.

3. Through this, communal representation was not only given to
the Muslims but the same arrangement was made for all
religious groups of society.

Answer the question using the code given below:

(a) Only 1 and 2

(b) Only 2,3

(c) Only 3

(d) All the above

‘Which of the statements is/are false regarding the Government of
India Act, 19357

Q5.

Q6.

—

It provides for the establishment of an All India Federation

2. The Reserve Bank of India was established by the
Government of India Act of 1935 to control the country's
currency and credit.

3. It introduced the system of dyarchy at the state level.

Answer the question using the code given below:

(a) Onlyl and 2,

(b) Only 2 and 3

(c) Only 3,

(d) None of these.

Consider a statement regarding the Indian Independence Act of

1947

1. Through this Act, the Viceroy Lord Mountbatten presented
the Plan of Partition which came to be known as the
Mountbatten Plan.

2. After the independence of India, the Constituent Assembly
formed in 1946 was accepted as the Parliament of India.

Which of the above statement(s) is/are Correct?

(@) Only 1

(b) Only 2

(c) 1 and 2 Both

(d) Neither 1, nor 2

Consider the following statements:

1. According to the recommendation of the Sarkaria
Commission constituted in 1983, the Central Government
constituted the Central State Council in 1990.

2. In 2007, the Central Government constituted the Punchhi
Commission to review the Central-State relations again.

Which of the above statement(s) is/are correct?

(a) Only 1

(b) 2 Only

(c) land 2

(d) None of the above.
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TEST PAPER - 1

fFefafad 8§ @ @9 a1 FyF 9YRd & FFs iR ggear wdiem &

iy A wgI e/ 8?

1. IEufd 9YRT & P ofR geTeiar usierh i 34T avE geldT &
S gated T o H3e AT eht geldl 8l

2. resten T i draraRien § CAG &Y Jfficr Hifad 81

3. WRA B CAG & & ot sftufafes e &t faraa & ®u d 3
ST GepaT g1

12 ReQ 7TY e T TN R TS I IR &

(a) haer 1 3R 2

(b) et 2 3R 3

(c) haer 1 3R 3

(d) ITRierT it

fafafaa d @ fhg sifdfem grr &rE s 6t ufthar 7 wRd
gfafAfeat st anfae e & foar mar ar?

(a) 1861 & YR uRwe ifdfAam griI

(b) 1892 & R uRwe sifdfAam griI

(c) 1909 & SfeaT FRRAA Tae gRII

(d) 579 & S T

1909 & WRd gRye ifdffay & ddy & Fmfafaa 4 @ s an/a

YT T 8/8?

1. 39 O3 U9 IR SR Tolc R T4 e a1 SR e

2. 39 AT & dgd ugell IR fhdl YR &t arRE &
R aRue & anfAe fohar mar o

3. 9% "1 @ 7 dhael FAAHH! Y areeTdew ufaffde fear mr
gfes Tt & T+t enffer gl & forg A cae & 1)

2 Y 7T e T TRINT R U BT IR

(a) aa 1 3R 2

(b) dhae 2,3

(c) dhaet 3

(d) IRterT Toft

YR TRhR IfARTH, 1935 & &4 | e I1/Y hY 39T &/8?

1. IE Ueh S YR T chl RATYAT T UG HT &

2. R Rerd s it —rgar 1935 & 9Rd TR 1fAfaw grr
231 Y g7 SR Trg Y FEfRE A & forg Y i ot

3. 3Y7 IS TR WR G ATH TUTTA! hl B3 |

1 &G 71Q e 1 TN R U I IR 3

(a) dhaa 1 3R 2,

(b) haer 2 3R 3

(c) Thaat 3,

(d) 39 @ i3 811

1947 & R Tdrdr ifafaay & dee # Teh e IR IR e
1. 39 AfAfRgw & grew @, qIERE &S Akeded 1 [y &
IS U <l fordt Ardedled o1 & &0 | SI1 S o |
2. YRd &Y WasIdT & 918, 1946 & 7féd dfdum gur &t YRa &

e & ®U d Wi forar man)
IR A T i 1/ hu= 981 8/

(a) had 1 g Bl
(b) haT 2 T §
(©13R29ad
(dyssar1,ag82

fAefafed va R AR &<

1. 1983 # 7IfSd TRRIRAT STINT il FAGIRST & IR, e TRHR
1990 & Shélg Irsg uRue a1 T R

2. 2007 #, dhg TRepR A Fg-Ireg el hY fhr T Teften &t & forg
Gt ST ot e+ foRa|

IR | @ i /9 Y gt &/8?

(a) Shaet 1

(b) haet 2

(c) 13R2
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Q7.

Q8.

Q9.

Q10.

Q11.

(d) Sudet & @ wiE 7|

Consider the following statements.

1. The legislative and executive powers were divided between
the Center and the states, except in some cases.

2. There are also provisions in the Constitution for cooperation
and coordination between the Center and the States, such as
Parliament can adjudicate on the dispute of distribution of
water of any inter-state river.

3. A Finance Commission has been arranged under Article 280,
which determines the taxation system between the Center and
the State.

Which of the above statement(s) is/are Correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) All the statements are correct.

(d) All the statements are incorrect.

Consider the following statements.

1. A provision has been made in the Constitution that the
formation of new states and changes in their names, and
boundaries will not be considered as an amendment under
Article 368.

2. By the 100th Constitutional Amendment Act 2015, some
land has been transferred by India to Bangladesh.

Which of the above statement(s) is/are correct?

(a) Only 1

(b) Only 2

(c) 1and 2

(d) Neither 1, nor 2

Consider the following statements:

1. Indian Federation is a result of an agreement among the states
like the American Federation.

2. The Indian federation is not the result of any agreement
between the states as in the American federation.

‘Which of the above statement(s) is/are correct?

(a) Only 1

(b) Only 2

(c) 1and 2

(d) Neither 1, nor 2

With reference to the Government of India Act 1919, consider

the following statements.

1. For the first time in the country by this act the bicameral
system and direct election were started.

2. Through this law, separate electorates were also arranged for
Sikhs, Indian Christians, Anglo Indians, and Europeans on a
communal basis.

3. The Simon Commission, constituted in 1927, in its report
recommended the continuation of the dual system of
government, expansion of governments in the states, and the
communal electoral system.

‘Which of the above statement(s) is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) All the statements are correct

(d) All the statements are incorrect.

‘Which of the following activities constitutes real sector in the

economy?

1. Farmers harvesting their crops

2. Textile mills converting raw cotton into fabrics

3. A commercial bank lending money to a trading company

4. A corporate body issuing Rupee Denominated Bonds
overseas

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2, 3 and 4 only

(¢) 1, 3 and 4 only

(d1,2,3and 4

QI12.

Q13.

Ql4.

QI5.

Ql6.

Q17.

With reference to the expenditure made by an organisation or a

company, which of the following statements is/are correct?

1. Acquiring new technology is capital expenditure.

2. Debt financing is considered capital expenditure, while equity
financing is considered revenue expenditure.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements.

1. A bill amending the Constitution requires
recommendation of the President of India.

2. When a Constitution Amendment Bill is presented to the
President of India, it is obligatory for the President of India to
give his/her assent.

3. A Constitution Amendment Bill must be passed by both the
Lok Sabha and the Rajya Sabha by a special majority and
there is no provision for joint sitting.

Which of the statements given above are correct ?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

a prior

Which of the following is/are the exclusive power(s) of Lok

Sabha?

1. To ratify the declaration of Emergency

2. To pass a motion of no-confidence against the Council of
Ministers

3. To impeach the President of India

Select the correct answer using the code given below:

(a) 1and 2 (b) 2 only
(c) land 3 (d) 3 only
Consider the following statements :

1. Attorney General of India and Solicitor General of India are
the only officers of the Government who are allowed to
participate in the meetings of the Parliament of India.

2. According to the Constitution of India, the Attorney General
of India submits his resignation when the Government which
appointed him resigns.

Which of the statements given above is/are correct ?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements:

1. The Governor of the Reserve bank of India (RBI) is a
appointed by the Central Government.

2. Certain provisions in the Constitution of India give the
Central Government the right to issue directions to the RBI
in public interest.

3. The Governor of the RBI draws his power from the RBI Act.

Which of the above statements are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements:

Other things remaining unchanged, market demand for a good

might increase if

1. Price of its substitute increases

2. Price of its complement increases

3. The good is an inferior good and income of the consumers
increases

4. Tts price falls

Which of the above statements are correct?

(a) 1 and 4 only

(b) 2,3 and 4

() 1,3and 4
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10.

1.

12.

f=fafaa s R AR &R

1. $S AT hl Sgdh Aurht 3k wrfart et ot dhe oz Tt
& & fqafSid fomam mma e

2. g R ol & i gga ok T & fog oft GfRam &
faae R fAvfg & gadl 81

3. 3rgea 280 & dgd Yo T ST hl e I 715 8, St che 3R
IS & S R Homel! et RufRa exar g1

IWIad A @ &I Iq1/8 Y= el 8/8?

(a) 1 3R 2 thaat (b) Faet 2 3R 3

(c) T+ft e Tl &1 (d) oY &Ry T d §

ffafea s R AR &R

1. Gfdum & uraym forar mar & ok A7 oA & e SR I AW
3R Taret § uRads ot srgwde 368 & dgd dMeH gl JFT
ST

2. 1009 Sfqer dmem sfafam 2015 & gRT $8 4 9Rd gRI
AT ! g&AiaRd &Y T8 2

SWIFT & § i I1/8 »ue T8l §/8?

(a) Fae 1 (b) e 2

(c) 132 (d)ysar1,78 2
fAafafad wu ) AR &

1. YR g @R Tu Y IToul & oita Yeh gHsid o1 aRem g1
2. MRS Tu i kg uRAIT U st & ST fhdt gusia @
gRRome T8 81

SWIad § T &I I1/T Y el 8/8?
(a) haret 1 (b) haet 2
(c) 13R2 (d)yaFar1, 982

YR WepR AAATH 1919 & deof & fFmfaRed syl R AR

HifS

1. 59 sifafes grr 3 A ugel IR fgge-ia ol 3k uaet gama
Y LI g3 |

2. 39 B & GRI AEEAe YR W R, yRdg damgat, et
gt ofk R i & forg oft gy Rafae ded & aawn
CARIE]

3. 1927 # 7fdq gga= A 3 Sot Raid § TRaR 6 gigdt
YOIt aht STIRY T&H, Isdl & TRepR o [IR 3R Qivarfie g-ra
yoTreft & fAwmrRRer <t off|

IWIad § T &I Iq1/T Y Tl /8?2

(a) haer 1 3R 2

(b) haet 2 3R 3

(c) Toft e Tt &

(d) goft 5= Teta €1

ffafaa § @ o Ot nfafafe sfarawn & arafds &3 @1 7167
CaGi k-

1. fram ol wod w1e @ €

2. FUel [Ad Thed U Pl UL B gRkafdd el &

3. T aIOIfRAch sch eh SATUTR hu=1 bl GT IUR 34T 8

4. fager # v # geuafiia 91 STRT &heel dTell Ueh ShiuRe HarT
12 g 7T e o1 ET R Tl IR gF:

(a) Faar 1 3R 2

(b) et 2, 3 3R 4

(c) dhat 1,3 3R 4

(d)1,2,33R4

femelt Tirest ar dhut gRT Ry g e & Hedd H, ffaf@a 7 @ @l

1/@ FUH b6l 8/8?
1. T3 UenfireR! uTe et dstird g 8l

13.

14.

15.

16.

17.

2. 01 faquiyoT et YSivid &0 AT ST 8, STefch Sfaaet faats o
! ST I /T ST 8

2 g 711 e o1 T AR e IR g

(a) Thaet 1 (b) a2

(c) 18R 2 &Mt (dysat1aRaE2

frfafEd sl R fRAER &

1. Hfdum § dtes wA are g & g YRa & gy & gd
STIRIET I SATGFehRT Bl &

2. 59 HiE Gfaer deited fAdgew TRa & agufa & a9er vgd fohar
ST 8, Y 9TRd & agufa & forg eroht gnfa 3 siffard gtar &1

3. Ush iy e Adus o @ ofR IsagT aFl gRI
Ay sgaa @ uiRa forar ST =nfey SR dgeT o 1 g
U1aYT™ gl 6l

IWR Ry Mg spyl & @ 9 S TE 872
(@) FhaeT 1 3R 2 (b) haet 2 3R 3
(c) Fae 1 3R 3 (d)1,23k3

ffefaf@a d @ o a1 / @ Seay i s afrr g / 82
1. SMUTdRIt &t =T i gfe emar

2. Afulue & e sifagyra ueama wilRa &ear

3. 9Rd & AUl TR HEIHGNT T

12 g 1Y e o1 T R el IR gA:

(a) 18R 2 (b) FaeT 2

(c) 13R3 (d) Shaet 3

fF=fafed wua R AR &

1. 9Rd & 3@ SR 3R YR & Gifel e SHRA TRBR &
THAE SMAPRI & e WRd &Y JTg &Y dahl § 9FT o 6
SAf Bl

2. Rd & A & STUR, ¥R Sl AEFIATIATE! STU-T ST a9
Hiuar g Sie S8 Fged & arell GRepR & & 3t 31

IR U U el | @ ie-a1/9 Tl 8/8?

(a) et 1

(b) Shaa 2

(c) 1 3R 2 gt

(dyFat18iRTdr2

Aafafed wal o AR &=:

1. RdTa Rerd & (RBI) & TawR & 3¢ THR gRT Frgad
SIGIET

2. ¥RA & AfAYUM & TV YU e THR Sl SHed # RBI &l
e S e o fdeRR 3

3. RBI & &=k RBI 31fafRag & 3o «ufery omed & 1

IRIed Syl J @ hiH & T8l &2

(a) haet 1 3R 2

(b) Shaet 2 3R 3

(c) haet 1 3R 3

(d) 1,233

fA=fefaa du=i R AR &

31 I1dt & SRafdd g i, fohelt axg &t seiR 71 # gfig &) Tendt
gafe

1. 9% QMF 6l hiHd 9¢ St &

2. 3H% TR 3T Y HIFd §g ST §

3. ag fAmaR avg & ok Iusitanatt fi oma & gfeg gt @

4. 396 g iR STt @

IR wl & § & & Tl &7
(a) a1 3R 4 (b) 2,33k 4
(c) 1,33R4 (d)1,23R3

LML JMARDHYAM 108

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 5



QI8.

Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Which one of the following effects of creation of black money in

India has been the main cause of worry to the Government of

India?

(a) Diversion of resources to the purchase of real estate and
investment in luxury housing

(b) Investment in unproductive activities and purchase of
previous stones, jewellery, gold, etc.

(c) Large donations to political parties and growth of regionalism

(d) Loss of revenue to the State Exchequer due to tax evasion

Consider the following pairs:
Historical place :

1. Burzahom :

2. Chandra-ketugarh : Terracotta art

3. Ganeshwar : Copper artefacts

‘Which of the pairs given above is/are correctly matched?
(a) 1 only

(b) 1 and 2

(c) 3 only

(d)2and3

‘Well- known for
Rock-cut shrines

The black cotton soil of India has been formed due to the
weathering of

(a) Brown forest soil

(b) Fissure volcanic rock

(c) Granite and schist

(d) Shale and limestone

In a pressure cooker, the temperature at which the food is cooked
depends mainly upon which of the following?

1. Area of the hole in the lid

2. Temperature of the flame

3. Weight of the lid

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to street- lighting, how do sodium lamps differ

from LED lamps?

1. Sodium lamps produce light in 360 degrees but it is not so in
the case of LED lamps.

2. Asstreet-lights, sodium lamps have longer life span than LED
lamps.

3. The spectrum of visible light from sodium lamps is almost
monochromatic while LED lamps offer significant colour
advantages in street- lighting.

Select the correct answer using the code given below.

(a) 3 only

(b) 2 only

(c) 1 and 3 only

(d)1,2and 3

With reference to Union Government, consider the following

statements:

1. N. Gopalaswamy Iyenger Committee suggested that a
minister and a secretary be designated solely for pursing the
subject of administrative reform and promoting it.

2. In 1970, the Department of Personnel was constituted on the
recommendation of the  Administrative Reforms
Commission, 1966, and this was placed under the Prime
Minister’s charge.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements:

1. In India, there is no law restricting the candidates from
contesting in one Lok Sabha election from three
constituencies.

Q25.

Q26.

Q27.

Q28.

Q29.

Q30.

2. In 1991 Lok Sabha Election, Shri Devi Lal contested from
three Lok Sabha constituencies.

3. As per the existing rules, if a candidate contests in one Lok
Sabha election from many constituencies, his/her party
should bear the cost of bye-elections to the constituencies
vacated by him/her in the event of him/her winning in all the

constituencies.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) land 3 (d) 2 and 3

‘Which one of the following in Indian polity is an essential feature

that indicates that it is federal in character?

(a) The independence of judiciary is safeguarded.

(b) The Union Legislature has elected representatives from
constituent units.

(c) The Union Cabinet can have elected representatives from
regional parties.

(d) The Fundamental Rights are enforceable by Courts of Law.

Constitutional government means

(a) A representative government of a nation with federal
structure

(b) A government whose Head enjoys nominal powers

(c) A government whose Head enjoys real powers

(d) A government limited by the terms of the Constitution

With reference to India, the terms 'Halbi, Ho and Kui' pertain to
(a) Dance forms of Northwest India

(b) Musical instruments

(c) Pre-historic cave paintings

(d) Tribal languages

When reference to carbon nanotubes, consider the following

statements:

1. They can be used as carriers of drugs and antigens in the
human body.

2. They can be made into artificial blood capillaries for an
injured part of human body.

3. They can be used in biochemical sensors.

4. Carbon nanotubes are biodegradable.

‘Which of the statements given above are correct?

(a) 1 and 2 only

(b) 2, 3 and 4 only

(c) 1, 3 and 4 only

(d1,2,3and 4

‘Which of the following are the reasons/factors for exposure to
benzene pollution?

1. Automobile exhaust

2. Tobacco smoke

3. Wood burning

4. Using varnished wooden furniture

5. Using products made of polyurethane

Select the correct answer using the code given below:
(a) 1, 2 and 3 only

(b) 2 and 4 only

(c) 1, 3 and 4 only

@d1,2,3,4and 5

If another global financial crisis happens in the near future, which
of the following action/policies are most likely to give some
immunity to India?

1. Not depending on short- term foreign borrowings

2. Opening up to more foreign banks

3. Maintaining full capital account convertibility

Select the correct answer using the code given below:

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d)1,2and 3
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18.

19.

20.

21.

22.

23.

24,

IRd # a1t o & fRafor o1 Feafaf@d & @ si=-91 te uvea IRa

TR & forg fefar o1 g% R 281 82

(a) 3raeT Gufx &t Wi ik e smarg & Raer & forg damest @
g+ T

(b) SreTee Mfafafda & Fder ofk freet ueer, Smaqmon, T o
CARCHA]

(c) TSTifer geil et 8T g iR &aTg @l fasra

(d) TR ST & IRUT ST chi ST i g1

frafafed gml R R Sifsig:

AR wme & g ulRg

1. goigm : TSI aht Shleehy §IY Y HiRR
2. Fa-hgTe : AHYeT el

3.T0sR : diat T ehelTepfaar

SR g g gt 7 @ ohi-9/@ wet gAferd 8/8?

(a) dhaat 1 (b) 132

(c) haet 3 (d)2 3k 3

WRd I el Huret g st Fmfor fhads e & sror gan 8?2
(a) i o= fagt

(b) foreR waretrdt St

(c) TTSE SR fRrse

(d) ¥ 3R AT TR

U2R Feps 8, f IIHM IR @1 Uk SirdT 8, 98 Jed: Aefafea
7Y fohg R ARk prar 82

1. &dh § B¢ P SAha

3. &gk I aoi

9 RQ 7g e a1 v R el TR gAY
(a) haa 1 3R 2

(b) Thaa 2 3R 3

(c) haar 1 3R 3

(dy1,23R3

2. St T ATIHE

e A1sfe & deof #, Fifsaw oy LED i ¥ g ver fB=a 82

1. ifsTH «fu 360 fSuft # A2t dar @ § A LED &iu & ArAet
EASIEGE

2. Ye-age & w4 #, LED du & Ja # difegw du &
Shiaentet Tfde gaT gl

3. ifead < 9§ 3T UehiRT T WagH 9T , Qb guft gidl &
Safch LED i ¥ie-amsfen & Agayguf 31 a1 UgH &ed 8|

1 &G 1Y e w1 Tt R et SR gyl
(a) FaeT 3 (b) Sharet 2
(c) dhaeT 1 3R 3 (d)1,23fR3

e TR & deof # i@ sel R iR Hifsia:

1. N. Mureerf sriTR affa 3 gama fear fos dhaer umafe gur
g ot TifAa frar st =nfgul

2. 1970 #, UMEe GUR AN, 1966 &t RwiRer W Fiffe
fmT AT T fohar T SR 58 T w3 & guR | 3@n A

IR U U oAl & @ 9 a1/ Tl 8/8?

(a) Shaet 1 (b) haet 2

(c) 1 3R 2 gt (dyFat1sRagr2

fA=fafEa Fei R AR &R

1. R4 #, Iefiar] &t fF fAafes &5 @ gen e ga s+
@ ufsfAd e arel S g et 2

2. 1991 & AereaT gA1a #, sft Sefierrer A i Aeres &5 & gAmT
=T

25.

26.

27.

28.

29.

30.

3. A fadt & SER, 3 FiE IHigaR Ter dleha T g=ra | &3
fafem &= @ 1T a8, aF SThI Tl ht 3Tk GRT @t fohy
g fatas &5 & IUGATT Gl @ gg- AT A1y |

IR U U Al & @ i 91/ 9l &/8?
(a) FaeT 1 (b) et 2
(c) 13R3 (dy2 38R 3

IR Iorifa & Refafaa d 3 wF-d v smasae f[gtyar & st
3fra ol & o g8 aRa & Tefta §2

(a) =aTauTfeTeRT Y Td=IdT hl 3&TT <hl ST &

(b) Tu RamHes = geah gahrsdl o ufafafdat st g 8l

(c) e AfFHsa & & ol & Raifa ufafafa g ged &1

(d) Hiferes SIfASRR S & T GRT AR <A 1 g |

A TRBR T Add &

(a) Tt T & A1y Uk AE Y Tap UfafAfY TR

(b) T TR foreent FREam AA AT e S1THg odT 8
(€) T TR oreent g aredfaes ferral @1 e dar @
(d) Gfarem i 2raf grr Hifg wRar

IRd & < 7 'gedt, gt ofk 3" <res foho Teifda &
(a) SR UfFH 9IRd & T =

(b) Tt areri=

() ud-QreTRIe 1T Rt

(CISESIGIER NI

HTeH AHiegd o def 7 FmfafEd sl W fJar &

1. ST IUTNT AFE IRR H ar3ft 3R U1 & aTgeh & ®0 § fhar
ST GehdT 81

2. I A4 RR & g o & forg e 3o Ffrenrstt & sman
STT GehdT 81

3. ST IUTNT Sig Igafeh GO & fohar ST gerar B

4, e ey SifsiSed g

IR U 7T oyt A @ i @ e 87

(a) haa 1 3R 2

(b) haw 2,3 3k 4

(c) haa 1,3 3R 4

(d)1,2,33k4

frfafad 7 @ o @ dofiv UgWoT & Tuch § 371+ & HRUT/HRE &2
1. SHicHaEd ¥ IS

2. ddre 1 gait

3. 3l STAMT

4. TIHRT Ahs! & BHTER T ITTNT AT

5. UTelgRAT @ 9= ITal T JTFNT AT

2 g 71T G o1 v AR Tl IR g
(@) a1, 2 3R 3 (b) haeT 2 3R 4
(c) a1, 3 3R 4 (d)1,2,3,43R5

Tfe Fepe viasn & gas ok A R<fia Yope gtar §, ot F=faf@a &
Y T I erRaE/Afdal YRT B Fo ufRen U A H qed
31fereh GTa=T 872

1. 3rcuehiferes fAesfl SyR R Rk 8t

2. 3rfdes fadsft Sopl ol @

3. gof goit @mar aRadHiadT s @t

12 g 1Y e o1 T R "l IR A

(a) Thaat 1

(b) dhaa 1 3R 2

(c) Thaat 3

(d)y1,23R3
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Q31.

Q32.

Q33.

Q34.

Q35.

Q36.

Q37.

With reference to the cultural history of India, which one of the

following is the correct description of the term paramitas?

(a) The earliest Dharmashastra texts written in aphoristic (sutra)
style

(b) Philosophical schools that did not accept the authority of
Vedas

(c) Perfections whose attainment led to the Bodhisattva path

(d) Powerful merchant guilds of early Medieval South India

With reference to the Tropic of Cancer, Consider the following

statements:

1. The Tropic of Cancer passes through the central part of India
in the east-west direction.

2. The region of the Tropic of Cancer experiences an extreme
climate with high daily and annual ranges of temperatures.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following pairs:

Biosphere Reserve States/UT

1. Pachmarhi Chbhattisgarh

2. Seshachalam Andhra Pradesh
3. Similipal Odisha

Which of the pairs given above is/ are correctly matched?
(a) 1 and 2 only

(b) 2 and 3 only

(c) 2 only

(d)1,2and 3

‘Which of the following factors determine the climate of India:
1. Distribution of air pressure and winds

2. Distance from the Sea

3. Physiography or relief of India

4. The inflow of western cyclones

Select the correct option using the code given below.

(a) 1 and 3 only

(b) 2, 3 and 4 only

(¢) 1, 2 and 4 only

(d1,2,3and 4

With reference to Biosphere Reserve, consider the following

statements:

1. It is a unique and representative ecosystem of terrestrial and
coastal areas which are internationally recognised within the
framework of UNESCO’s Man and Biosphere (MAB)
Programme.

2. India is a signatory to the landscape approach supported by
the MAB programme.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following features:

1. There is no definite time for trees to shed their leaves

2. They are found in warm and humid areas

3. Species found in these forests include rosewood, mahogany
and ebony.

The above-mentioned features define which types of the forest?

(a) Montane forests

(b) Tropical Evergreen and Semi Evergreen Forests

(c) Tropical Thorn forests

(d) Littoral and Swamp forests

‘Which among the following factors affects the formation of soil:
1. Parent material

2. Vegetation

3. Life-forms and time

Q38.

Q39.

Q40.

Q41.

Q42.

Q43.

4. Soil texture

Select the correct answer using the code given below.
(a) 1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d1,2,3and 4

Consider the following statements with reference to Laterite Soil:

1. The soil has high humus content.

2. It is deficient in iron oxide and potash.

3. The soils develop in areas with high temperatures and high
rainfall.

Which of the statements given above is/are Incorrect?

(a) 1 and 2 only

(b) 2 only

(c) 2 and 3 only

(d)1,2and 3

Consider the following features:

1. The soil is rich in potash but poor in phosphorus.

2. The soils are loamy and clayey in the lower and middle
Ganga Plains.

3. These are depositional soils.

The above mentioned features is the description for which of the

following type of soils?

(a) Yellow soils

(c) Alluvial soils

(b) Black soils
(d) Laterite soils

Which one of the following forests is the most widespread in
India?

(a) Tropical Thorn Forests

(b) Tropical Deciduous Forests

(c) Montane Forests

(d) Tropical Evergreen and Semi Evergreen Forests

Consider the following statements with reference to Inter

Tropical Convergence Zone (ITCZ):

1. It is the region that circles the Earth, near the equator, where
the trade winds of the Northern and Southern Hemispheres
come together.

2. The latent heat released in the ITCZ is critical to the
atmospheric energy budget.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following statements with respect to Retreating

Monsoon

1. Retreating monsoon season commences with the beginning
of the withdrawal of the southwest monsoon.

2. The withdrawal of the Retreating monsoon is gradual.

3. As the monsoon starts retreating towards the south, the
pressure gradient becomes high.

‘Which of the statements given above is/are correct?

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 1 and 2

(d) All the statements are correct

Consider the following statements with respect to Clouds.

1. Clouds form when the air is saturated and cannot hold any
more water vapor.

2. Vertical Cloud form by thermal convection only,

3. Altostratus clouds produce a halo phenomenon.

Which of the statements given above is/are correct?

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 2

(d) Only 1
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31.

32.

33.

34.

35.

36.

37.

R & Tiplaa sfagra & T 7, Ffafaa 7 @ wi9-ar orfaar
STeE T Fgl aui 8?2

(a) TRfYes e Ty YwIRfRS () et 7 fore g &

(b) e et fSigIA et & SifreR @t @R =8 foar

(c) RafZaT foreht onfta & Siferere At a1 AT e gam

(d) URfYep AegeTe gfoT YRA & Afeiemel @R fics

&k 3@ & Heof 7 fF=fafad sy w AR fifea:
1. ohdh @1 9RA & AL AFT & gd-ufPe e & qordt 81
2. @h @1 &I & I &k R a1fiies aruA™ & 1Y TRA Searg

T ST T B
IR Ry syt A @ i a1/a Ol 8/87
(a) Shaet 1
(b) et 2
(c) 1 3R 2 @t
(dyar1aRaE2
frefafea gt R AR fifsg:
Sheviza Rerd IS /Y ITST &
1. ggHd! ERiEHr
2. Avgem 37ST Ty
3. fafafeare 3nfsam
SR oy g gt & § -1/ Hel gAferd 8/8?
(a) Faa 1 3R 2 (b) Thaet 2 3R 3
() Fhaet 2 (d)1,2 33

fr=fafEa & @ o § SRS YRd i Sieary ot ik aed 8
1. Iy a9 3R garaii et faavor

2. 99 g

3. YRd Fi viifees [RfS a1 S

4. gfyY Teharal 6t srduars

=2 g 7T e o1 v R TEl fahed T 9 Al

(a) haar 1 3R 3

(b) hawr 2,3 3k 4

(c) haa 1,23k 4

(d)1,2,33R4

TREERR Reid & deof # Refafaa syl R R Hifsd:

1. Jg i SR Ik &1 a1 e SraT ofiR ufafafd oiRfefadh o
2 fO gA%R! & A1 U TraehieR (MAB) hishd & & o ofiaR
SARIER TR W AIAT U 8l

2. ¥Rd MAB &RishH gGRT GAfAd ds@hy gfehiur &l g&dierehal
gl

IR u g syt A @ i 91/a Tl 8/8?

(a) haet 1 (b) dhaet 2

(©) 1 3Rk 2 gt (dyTat1siRag2

f=fafaa fatuarel w farR &%

1. Ui & Ut iR a1 onlE fAfga awr adi glar @

2. T SR 37T & § T o1

3. 39 g1 # urg S arelt wenfaal 7 <fivm, #ghe ok Sed
LA g1

Sugerd fatvary fohd UeRR & a1 et gRINT et 872

(a) uddta g

(b) IwTeicE T TEagR R oref TeEER o=

(c) IwThfesef shideR a1

(d) 7T 3R gereett a=

A= 7 @ & a1 AR A & fAmfor st genfaa e=ar &:
1. wrafae o
2. gAwfa

38.

39.

40.

41.

42,

43.

3. Sfte-¥q 3R &rel

4, g & F1aC

2 g 7T Ge o1 T AR el IR g
(a)haar 13k 3 (b) haet 2 3R 4
() Fae 1,2 3R 3 (d)1,2,33R4

dexrge A & deof 7 ffaifad syt o faaR &

1. fAgh = gree &l A e gidl 81

2. TR IR SHiG1ES SR Utersn &l T gt gl

3. I3 auEH SR I3 gt aret &= & A o e gtar &1
IR T U put A T i 91/ Teld &/87

(a) 1 3R 2 Taat (b) Faat 2

(c) 2 3R 3 dhaa (dy1,23R3

ffafed fasivarst « faar &
1. fAg & dterer &Y a1 S1fdes gidt § wifch hIhRY <l et gl 81
2. T & et ok wer AaHl 7 A ame ok Rt gt 81

3. & Rduo gerd &

Iudfat fagwaTe PArfafla 3 @ g veR H B @ g 27
(a) diet Y (b) et gt

(c) Sieiig ! (d) dezrse gy

fr=fafEa # @ o-91 97 YR 7 T8 srfdes e gom 8?2
(a) SWThicET ThideR a=

(b) ST gufurdt o=

(c) vddm a9

(d) Iwrfestfia TemgR iR ief TeegR a1

3=d: IwuTeRfeseia SifeERor 8 (ITCZ) & wesf # Frafafaa st

R fFaR &<

1. I% 98 &4 & Sit Gl chl GReHHAT ehedl 8, AT I&T & U, STgl
It SfR gfeoft meref &t smaiRes gard ge gy et €1

2. ITCZ & S} T ST aRIHS A Holl Foie & [l Agayui g

IR T MU Y H @ i 91/d ggt &/8?
(a) et 1 (b) Faer 2
(c) 18R 2 &t (d)yTFar1siRag2

dled AFYA & dag H FAfafEd syl R R &

1. afeyor-ufgw A <t aru i TS & ATy ara} 7Y o
H9H [F T 8l

2. died AFYA i aruedt dR-4R gidt 81

3. S g "G &feror it ok i’ g F aar @, g9d vaorr
3feh g STt

IR 3w U =l A @ @ a1/d Tgt &/

(a) Faet 1 3R 2

(b) et 2 3R 3

(c) a1 3R 2

(d) goft po Tt &

el & gay § fRmfafed syl = R &1

1. 9ICe 99 §91d & 919 gaT UqW aidl § 3R 31 STeT arsq eRor
T8l PR Gehall B

2. Shad I Jag gRT dead J1ed §-d 8,

3. JMeEI e q1Gel Ueh UHTHSH HeAT 304 hid g

IWR T M ot F § @ 91/d I8t 8/

(a) Paet 1 3R 2

(b) haw 2 3k 3

(c) Thaer 2

(d) Thaat 1
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Q4.

Q45.

Q46.

Q47.

Q48.

Q49.

Consider the following statements with respect to rainfall

1. The rain associated with the passage of a cyclone or
depression and caused by a warm; moist airmass moving
upwards over a colder heavier air is known as cyclonic or
Frontal rain.

2. The descending Wind on the leeward side is heated
adiabatically and is known as Anabatic Wind.

3. Conventional rainfall is widespread in tropical areas between
the Tropic of Cancer and the Tropic of Capricorn.

Select the correct answer using the appropriate code given below:

(a) Only 1 and 2

(b) Only 1 and 3

(c) All statements are correct

(d) Only 2 and 3

Consider the following statements about Cloud Seeding which is

in the news.

1. Cloud seeding is a weather modification technique that
improves a cloud’s ability to produce rain or snow through
Silver Iodide Aerosols.

2. These nuclei provide a base for snowflakes to form.

3. Cloud seeding is used all over the world as a method for
enhancing winter snowfall and increasing mountain
snowpack, supplementing the natural water supply available
to communities of the surrounding area.

Select the correct answer using the appropriate code given below:

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 2

(d) All the statements are correct

Which of the following statements about El Nino's effect on

Indian climate is/are true?

1. ElNino has a negative effect on the Indian monsoons and, as
a result, on agricultural production in India.

2. Temperature decreases brought on by El Nio are responsible
for a diverse array of health issues.

3. El Nino has been the cause of six of India's most severe
droughts since 1871, including the most recent ones that
occurred in 2002 and 2009.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements:

1. El Nino is characterized by persistent cooling of the central
and eastern tropical Pacific, whereas La Nia is characterized
by a protracted warming of these same regions.

2. EIl Nino gives rain to South America, but it creates droughts
in Indonesia and Australia, whilst La Nina causes drought in
Peru and Ecuador.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

It is a spinning cone of low pressure above the North and South
Poles that is accentuated by the temperature difference between
the polar areas of North America and Europe, which causes a
temperature rise. Which of the following geographical
phenomena is being talked about?

(a) Aurora Borealis

(b) Polar Vortex

(c) Aurora Australias

(d) Coronal mass ejection

With reference to the South Atlantic Anomaly(SAA), consider
the following statements.

1. The South Atlantic Anomaly (SAA) is a stretch between
South Africa and South Atlantic.

2. The trapping of magnetic particles near the coast of Brazil,
lead to the development of the South Atlantic Anomaly
phenomenon.

Select the correct answer using the appropriate code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q50. With reference to the factors affecting the Insolation, consider the

Q51.

Q52.

Q53.

following statements.

1. The angle between the Sun rays and the tangent to the surface
of the Earth largely determines the amount of Insolation
received at a place.

2. As the angle of the sun’s rays increases poleward, the amount
of Insolation received also decreases in that direction

3. The Earth at the time of perihelion should receive maximum
Insolation while it should receive minimum Insolation at the
time of aphelion.

4. The amount of Insolation received at the earth's surface
increases with a decrease in the number of Sunspots.

Select the correct answer using the appropriate code given below:

(@) 1, 2, and 4 only

(b) 1 and 3 only

(c) 2, 3, and 4 only

(d) All of the above

With reference to 108th Indian Science Congress consider the

following statements.

1. It was held at Rashtrasant Tukadoji Maharaj Nagpur
University.

2. The main theme of this year's ISC is "Science and Technology
for Sustainable Development with Women Empowerment".

‘Which of the above statement is/are correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) All of the above

With reference to 17th Pravashi Diwas consider the following

statements.

1. The 17th Pravasi Bharatiya Divas was organized in
Nagaland.

2. Dr. Mohamed Irfan Ali, President of the Cooperative
Republic of Guyana as the Chief Guest.

3. The theme of the conference is "Pravasis: Reliable Partners in
India's Progress in the Age of Amrit".

‘Which of the above statement(s) is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) All of the above

India has recently purchased S-400 missile systems to further

bolster its defense capabilities. In this context, consider the

following statements regarding the S-400 missile system:

1. It has a range of up to 40 kilometers only.

2. It cannot engage ground-based military installations.

3. It possesses four different kinds of missiles that can engage
beyond visual range (BVR) targets.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 3 only

(c) 2 and 3 only

(d)1,2and 3
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44.

45.

46.

47.

48.

aui & day # fRmfafed ey R foar o

1. Qe IehdTd T STEHTE o UTRA 819 & &t aTRer 3R T & SR,
T gt ot $ WRT arg & FURX HUR < 7R T TehaTdt
T 3 Vi & TG F STET ST 8|

2. Ugq & fReam # reRig) gaT I U ¥ T gidl @ ok 39
3Tafees U & ¥ & ST AT 81

3. theh T 3R TR 3@ & T IWThiead & & uRuRen auf
Y g

12 g 7Y ITgT Fe F1 TN R T W A

(a) Faar 1 3R 2

(b) Fhaet 1 3R 3

(c) Toft po T &

(d) Faer 2 3R 3

T3S T & TR A FEfaf@d sy ) R &2 St gaeRi A &1

1. Tss YIS e digy dned dedia & o Rer smaisiss
WA & Areny SR a1 It 9T e it aes Y &FdT |
GUR Fe g

2. & T fRHON & 9991 & 1Y SMER UeH oa &

3. T3S HfST a1 IuahT gfHar R H Gféat & fgrura @t se ok
UET8 & T hl IgM, U o &5 & TN & folg Suetey
UTpfcteh STel SYfel & UReh o U | fohal SITaT 81

2 g 77 IUgT Fe F1 TN R Fel SR I

(a) Faet 1 3R 2 (b) et 2 3R 3

(c) haer 2 (d) Toft sp Tt &

VR STetarg UR U {141 o UTa o IR & Ffafed § @ o ar/a

Y9 TA 8/8?

1. Q& A T YR A R AhRIHS UHE USdT § 3R 38
GRUMTEET WRd # HiY IdTe IR Ht UH1e usdi 81

2. El Nio gRT @4 7Y qrg|= 7 &t ey et fafea uer i
ga@el & AU Ieaerft g1

3. T AT 1871 & 916 ¥ YR & ©g Ha% 1R J& &1 SROT 6T
8, forae we giferar 2002 sk 2009 # gQ @ +ff enfae 81

2 g 71 e o1 T R el IR gF:

(@) 1 3R 2 dhae (b) 2 3R 3 hae
(c) dhaet 1 3R 3 (d) 1, 23R3
Aafafed wal R AR w&=:

1. Qe At ot e SR gdf Iwrehiesea usiid & dR fae gk
FI fatwar §, STafeh @A ot 361 &5 & o 9T 9 T ge
&Y fagiear 81

2. ud =it <feror smRet & sRer 2ar §, e gg gsiAfm ok
sireeforar & gar 91 ehxar 8, Siafdh o 91 0 ok geareR A
T I AR FT 8

IR w g syt A @ i 91/a Ol 8/8?

(a) Thaet 1

(b) et 2

(c) 1 3R 2 @t

(d) 377 A S oft 7k

7g I 3fR afaruft gt & KR & TaTa 1 gHA dTeT g & St I
3mRent ofR FRu & ydia & & &g aruaE & SR @ Fel 8, e
a9 # gfg gt 81 Ffefaa d @ forg «ifore ge & aR &
1d 6l ST @I 8?

(a) SRRT SRarferd

(b) yda Tehara

(c) SRR Sifeferar

(d) PR AT SSlaRM

49.

50.

51.

52.

53.

gfaor sredifes fadmfa (SAA) & deof # fRmfaf@d syl R faerR

Gl

1. =feor erwifees fadnfa (SAA) cf@ior snfier ofik afaor
Iredifees & g Ua @S |

2. SIS & d¢ & U gahig HUN & e 9 &f@iuT sredifed
faiTfar e &t fremra gami

=2 oy 7T IUge Fe 1 TN FR Het SR AT

(a) Thaet 1 (b) a2

(c) 1 3R 2 gt (dysat1aRaE2

gafdu &t uifdd e It SRl & def 7 fmfafed sl w

fraR &3

1. gd & foReont iR gelt i Idg R TR & 9 &1 Hior i
&< doh fohell T IR UTW g1 aTet gaiay i AT &t FefRa aar
2l

2. gd &I ol &1 tor S-St g Y SR Far SIraT 8, -
afay et A off 39 fe=m 7 gedt st @

3. JUER & GAY et ot AfAhdd Fafdd UTe e I1fey STafch
SR o G9G Yot ol AqH G U 1 AMie Q|

4, TR heichl dht TwEAT F St & A1 gt F Tdg W U g ardt
afay &t 7 7 i gt 8

12 T 7T IUG Fe T TN F Get SR AT

(a) a1, 2 3R 4

(b) Faet 1 3R 3

(c) Faa 2, 3 3R 4

(d) SR & Taft

108t YR fagm S & e 7 fFAfafed sl v iR &R

1. Ig AFHA JohsIsil HgRIST ARTYR fayfernera & smafSra foar mar
o

2. 39 94 & ISC &1 T fawa "dAfge Gfeawor & a1y dad
faenma & forg fasm iR wenfieRr” 21

SR | & i I1/8 Hu T8l /87

(a) hae 1

(b) Seret 2

(0) 1 3R 2 =¥

(d) SWRia T+t

173 garht feaw & e # Fmfafed wu R fer w2

1. 17ai gare WR f&ad AnTeis # maifSd forar mam

2. 7= QY & ¥ H HghR! TURTSY AT & AFald i, JAigHg
G 37t &

3. T ol fawy "t 3nyd & g A vRa ot wiifd A Rgea
qfieR" &1

SR § § &l I1/8 &y I8t /82
(@) Thaet 1 3R 2 (b) Shaet 2 3R 3
(c) haa 1 3R 3 (d) SRt gt

IRA 7 81 8t A 39 3R Aoegd dea & g S-400 fAasa Rwen

Tler g

38T &dT| 39 ey #, S-400 fAusa vunelt & ey § fAefafea

Y R R &

1. gadh! ¥57 40 frelieiex qen € gt 8

2. gg e R g &= ufasm &t nfaer 981 R gepar 81

3. 3T% U GR STHT-SeRT UGR Gl AEmEad § S fagera
(BVR) &g} & R ST Gehal &

IR U 1Y eyl F @ i @/ Tl 2/

(a) Shaet 1

(b) &haet 3

(c) Shaet 2 3R 3

(d)1,23R3
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Q54.

Q55.

Q56.

Q57.

Q58.

Q59.

Q60.

Q6.

Which of the following statements is not correct with respect to

National Green Tribunals Act, 2010?

(a) It was enacted under article 21 of the Constitution.

(b) It has power to hear all civil and criminal cases related to
environmental issues.

(c) While passing the orders NGT will apply principle of
sustainable development and polluters to pay.

(d) It has original jurisdiction related with Forest Act 1980 and
Biological Diversity Act 2002.

Recently India got its first Nasal Covid Vaccine. With reference

to it consider the following statements.

1. It was developed by Bharat Biotech.

2. Vaccines may produce local antibodies in the upper
respiratory tract.

‘Which of the above statement(s) is/are correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to Ramon Magsaysay Award consider the

following statements.

1. Ramon Magsaysay served as the seventh President of the
Philippines.

2. Manna Day and Kiran Bedi are the only Indians who won
the Roman Magsaysay award.

3. 2022 Ramon Magsaysay award conferred to 4 people.

‘Which of the above statement(s) is/are correct?

(a) 1 and 3 Only (b) 2 Only

(c) 1 and 2 Only (d) All of the above

Recently Queen Elizabeth II, the UK's longest-serving monarch,

has died at Balmoral aged 96. Which of the following statement

related to Queen Elizabeth II is/are correct.

1. Queen Elizabeth II has the longest reigning monarch in
British history.

2. Queen Elizabeth IT was crowned on June 2, 1953.

3. Queen Elizabeth 1l worked with 15 British prime ministers.

Answer the question using the code below.

(a) 1 and 2 Only (b) 2 and 3 Only

(c) 1 and 3 Only (d) All of the above

With reference to Human Development Index 2022 consider the

following statements.

1. India ranked 101 in the Human Development Index 2022.

2. 90% of countries registering a decline in their HDI value in
2020 or 2021.

‘Which of the above statement(s) is/are correct.

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to cyborg cockroach consider the following

statements.

1. Cyborg cockroach is the integration of machine and organism
(Cockroach).

2. Cyborg cockroach has been built with an ultrathin solar cell,
that does not affect the movement of the insect.

Which of the above statement(s) is/are correct.

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

Recently government imposed a ban on the export of broken rice.

With reference to it consider the following statements.

1. Broken rice export has increased 42 times since April 2019.

2. China was the top buyer of Indian broken rice in the year
2021-22.

‘Which of the above statement(s) is/are correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following Statements:
1. Bagha Jatin and Rasbehari Bose were the main architects
behind the Zimmerman plan.

2. Rasbehari Bose was an important part of the founding of the
Indian National Army in later years.

3. Savarkar started the journal The Indian Sociologist to bring
radical youth from India.

Which of the above statement(s) is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d1,2and 3

Q62. Which of the following personalities were members of the Ghadr

Q63.

Q64.

Q65.

Q66.

Party?

1. Lala Hardayal

2. Bhai Parmanand

3. Kartar Singh Saraba

4. Khudiram Bose

Choose the correct option from below :

(a) 1 and 2 Only (b) 3 and 4 Only
(c) 1,2 and 3 Only (d) 1,2,3and 4

Consider the following Statements with respect to the Home rule

movement:

1. Tilak set up his Home rule league before Annie Besant.

2. The league campaign aimed to convey the message to the
common man about the Home rule as self-government.

3. Itcarried a wider appeal than earlier mobilization, but it failed
to attract the politically backward regions of Gujarat and
Sindh.

Which of the above statement(s) is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following Statements with respect to the Lucknow

pact:

1. The Lucknow Pact of 1916 was signed between Bal
Gangadhar Tilak and Muhammad Ali Jinnah.

2. The Lucknow session of INC was presided over by A.C.
Majumdar.

3. It was accepted by Montague Chelmsford Reforms of 1919.

‘Which of the above statement(s) is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following Statements:

1. Montagu Chelmsford Reforms abolished dyarchy at the
provincial level.

2. Legislators under this reform can vote upto 75%of the budget.

3. The communal representation was extended to include Sikhs,
Europeans, and Anglo-Indians.

4. The Act provided for the establishment of a Public Service
Commission in India.

‘Which of the above statement(s) is/are incorrect?

(a) 1 and 4 Only

(b) 1,2 and 3 Only

(c) 1 and 2 Only

(d) 2 and 4 Only

With reference to Rowlatt Satyagraha, which of the following

statements is/ are correct?

1. The Rowlatt Act was based on the recommendations of the
'Sedition Committee'.

2. In Rowlatt Satyagraha, Gandhiji tried to utilize the Home
Rule League.

3. The Jallianwala Bagh Massacre was the outcome of the
Rowlatt act.

Select the correct answer using the code given below.

(a) 1 Only (b) 1 and 2 Only

(c) 2 and 3 Only (d)1,2and3
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54.

55.

56.

57.

58.

59.

60.

AR gRa =T Sifdfram, 2010 & dey & Frfafed § @

I T YT Tgl T8 &7?

(a) Tg Ifay™ & =g 21 & dgd srfafafaa frar mar am

(b) 3T g TaiaRefig gei € defda aft ffde sk smuwifde
A hl G <ht 1ferT 81

(€) & UIRA I THT Tie gad e & fRigia ot amy s
3R UgWUT thef aTell eht ST ShT BT

(d) 39 o &fIR o= fafed 1980 ok Sifden fafdear
3rfafRag 2002 & H&fda g1

BT 81 # YR ht 3rg+T ugar Nasal Covid Vaccine faer g1 g9
geof 7 fR=faifRd sl = AR R

1. 38 YR IS R fAen T famar mar

2. &% S 9 gy # R TS ot ST e Johd &l

IR & 9 i 1/ a9l 8/8?
(a) Faa 1 (b) ae 2
(c) 1 3R 2 g=f (d)Tat1sikas2

T AHY REAR & e 7 mfafEd syl R AR &

1. T Y 7 fohefidi & Tad Ipufa & w9 8 ot o

2. 74T 3 SR fReor 38 gorA WRAT g Org 9 &8 GRERR
e g1

3. 2022 o1 A FEY YIERR 4 Al bl ge foRar

IR & G i I1/9 Y 9el 8/8?
(a) dhaet 1 3R 3 (b) ehae 2
(c) hae 1 3R 2 (d) IuRie goft

g1 &1 & e & Tod i 95y deh IS R dTett HgRHT TiorsTey

i a1 96 & &t oy & ATeHRe & Fe ) T R TRy

fedt g geifdq Fafafea 3 @ &F 91/9 o= I8t 8/

1. weRM! Tl fedia fafesr sfasa & go@ o« o099 d& I
A aTelt HERH! &1

2. AgRM gl fdia o arsarfases 2 S, 1953 ot gt o1l

3. HgRH gfeemey fgdia 3 15 fafesr gt & grer s fha

2 Q7T e T TRINT R U Al IR S
(a) Hhaer 1 3R 2 (b) et 2 3R 3
(c) haer 1 3R 3 (d) SuRta gaft

A4 far arenich 2022 & e A Mmfafad syl wR faar 1)
1. YR AMFY fahr gaeich 2022 7 101d R R 81
2. 90% 3erf = 2020 a1 2021 # 3107t HDI Hed H fiRTae &sf &

ST & ¥ ol 91/9 %y T8l 8/31
(a) et 1 (b) e 2
(c) 18R 2 &t (d)Fat1siRa8E2

grgaf e & G # Fefafaa sl R foar &R

1. GIEaNT dhieia AM 3R S (hier) ahT Tehiehor &

2. Qrgant pieig i eI Tier I ¥ Fmam 747 §, St e &
A &l wefd 8 e @1

ST & T i I1/9 Y= 8! 8/81
(a) Sheret 1 (b) Faet 2
(c) 1 3R 2=t (d)yTat1sikas2

BT g1 § TR A g 19 o fAafd wR ufdeier o feam 81 59dh daed
# Ffafed syt R feR &

1. 30 2019 9 ¢ =mad o (Aafd 42 T T8 81

2. ¥ 2021-22 & fi9 R g aract o fid wlier

IR A @ i 1/ hy 9l /2
(a) Fae 1 (b) e 2
(c) 18R 2 &t (d)yTTar1siRag2

61.

62.

63.

1.

fr=fafEa sl w far &R

1. OmRAT gieT & e arar Sifae SR I4fagRt S 9w ager
g

2. JGfEER 19 916 & I A YR AL F1 hY WITGHAT &A1 Tk
Ayt fowr &

3. GERaR 7 URd § pgeudt garsd @ am & g 7 e
Gifriroe ufien I S

IR H T i 1/ ho Tet 8/8?

(a) 1 3R 2 dhaat

(b) 2 3R 3 dhaat

(c) 1 3R 3 Thaat

(d) 1,283

f=fafaa 4 @ o9 @ aafara meR uidl & geq &
1. AT gReaTe 2. 9IS RAM=<
3. FeaR g a=ren 4, GERM a9
2 @ w8t ey T

(a) 1 3R 2 aet (b) Shaet 3 3R 4
(c) a1, 2 3R 3 (d) 1,2,3 3R 4

g T Siigted & gay # fFfeifed suei = TR
Tt 98 T ugat faetes 7 819 et ot Y wimuET fi

2. T AT T I 3MH SMTEHT Sl WA & &Y F g1F T &

IR Tr T AT

3. U Ugct I AEiEl Sl goiT | SATach STHie i, Afh a8 ToRTd

64.

65.

1.

3R &y & Iorifdes U 9 fUes &1 ! maitia == & fawe
et

SWIed & I ahl I1/3 Sy I8t 8/8?

(@) 1 3R 2 hae (b) 2 3R 3 hae

(c) 1 3R 3 haa (d)1,2 3R 3

AT T & Jag & FRefaf@d syl «R R &

4. 1916 I TGS THST TeT TMeR fdereh 3R gewie areft forar
& o9 gam A

5. S & G HTAA Y sregerd ot Aspier 3 6 ot

6. 38 1919 & Hiew RIS GURT gRT WienR fohar T o)

IR A T i 1/ hyT 91 /87

(e) 1 3R 2 haet

(f) 2 3R 3 dhaa

(g) 1 3R 3 daet

(hy1,23Rk3

ffafad syl o fear &
Hi&T IS URT 7 Uichd TR U g4 A hl T o &

2. 39 QYR & dgd [aUmrie suie oh 75% dh Ada e dhd 8l
3. wimee ufaffea «t e, gadia sk dret-gfeaa @t A

& & folg e T |

4. 9Rd H Yeh <l JaT ST cht TATIAT & forg erfdfaay uem fahar

66.

arl
IR & § i I1/F &y Tod 8/8?
(a) a1 3R 4 (b) dhaeT 1,2 3R 3
(€)1 3R 2 dhaa (d) 2 3R 4 dhae

3ot g & dedf d, F=fafeaa § 9 o a1/9 wu 98t 8/8?
1. qeie Tae '2ereis afafa’ Y RmRel w smenRa o

2. JAcic gamg d, mefisht F g9 T <1 A1 IuThT e Y ifder
&

3. SIferaTet N gTehis Jeie Tae T TRRomy ol

2 g 1Y e o1 v AR Tl IR g
(a) et 1 (b) 1 3R 2 Saat
() 2 3R 3 hae (d)1,23k3
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Q67.

Q68.

Q69.

Q70.

Q71.

Q72.

Consider the following Statements:

1. The Jallianwala Bagh Massacre happened under the rule of
Lt. Governor of Punjab, Michael O’Dwyer, and the
prominent viceroy of India, Lord Montague.

2. The Disorders Inquiry Committee was formed on October 14,
1919, to investigate the massacre.

‘Which of the above Statement(s) is/ are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following Statements with respect to Champaran

Satyagraha:

1. It was launched by Mahatma Gandhi against the exploitative
Indigo cultivation System.

2. Rajkumar Shukla persuaded Gandhiji to
Champaran.

3. Narhari Parekh and Rajendra Prasad were associated with
this Satyagraha.

Which of the above statement(s is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

come to

Consider the following statements :

1. In the First battle of Panipat Babur defeated Sikander Lodhi.

2. Babur won the first battle of Panipat because of the scientific
use of cavalry and artillery tactics like Tulughma and araba.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above.

What were the consequences of the First Battle of Panipat, in

15267

1. Babur established Mughal rule in India after a decisive battle.

2. Majority of feudatories of Ibrahim Lodhi keep fighting even
after his death.

3. Many generals and mercenaries of Ibrahim Lodhi refused
allegiance to the new rule.

Answer the question using the code given below.

(a) 1and 2

(b) 1 only

(c) All of the above

(d)land 3

Recently government announced the revised interest rate for

Kisan Vikas Patra, which of the following statement related to

Kisan Vikas Patra is/are correct?

1. It was first launched in 1988.

2. Kisan Vikas Patra is a small saving scheme from the Indian
post office.

3. Business entity can not invest in Kisan Vikas Patra.

Answer the question using the code given below.

(a) 1 Only

(b) 2 and 3 Only

(c) 1and 2

(d) All of the above

‘With reference to Aspirational Block Programme (ABP) consider

the following statements.

1. It was first announced in Union Budget 2022-23

2. Programme has been launched for covering 500 blocks across
31 states and Union Territories initially

3. It aimed at improving performance of blocks lagging on
various development parameters.

‘Which of the above statement(s) is/are correct?

(a) 1 Only

(b) 2 and 3 Only

Q73.

Q74.

Q75.

Q76.

Q77.

(c) 1 and 2 Only
(d) All of the above

With reference to recently launched Revamped Distribution

Sector Scheme (RDSS) consider the following statements.

(1) It aims to improve the operational efficiencies and financial
sustainability of all DISCOMs

(2) It will subsume Integrated Power Development Scheme
(IPDS), Deen Dayal Upadhyaya Gram Jyoti Yojana
(DDUGTY).

Which of the

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

above statement(s) is/are  correct?

Consider the following statements

Intelligence Grid (NATGRID):

1. Itis a secure database of all associated information related to
terrorists, economic crimes and other similar incidents.

2. Computer emergency response team is the implementation
agency of NATGRID.

3. Its core function is to intelligence sharing network.

Which of the Statements given above is/are correct ?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

regarding National

Consider the following statements regarding Armed Forces

Special Powers Act (AFSPA):

1. It empowers both central and state government to notify any
area as disturbed area.

2. It was first implemented in Nagaland and Tripura in North
East.

3. It gives special powers to the armed forces to operate in
disturbed area.

Which of the Statements given above is/are correct ?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to India’s Bioeconomy report 2022 consider the

following statements.

1. It was released by the Niti Aayog

2. As per report Bioeconomy Market continued to nearly
account for a 2.6 percent share of India’s GDP in 2021

3. BioPharma accounts for the largest share of the Bioeconomy.

Which of the above statement(s) is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) 3 Only

Consider the following statements regarding the Vijayanagar

Empire of South India:

1. Saint Vidyaranya played a significant role by inspiring and
helping Harihara and Bukka establish the Vijayanagara
Kingdom.

2. Harihara ascended the throne after Bukkaraya.

3. In 1520, as his last expedition, Devraya II defeated Ismail
Adil shah in Raichur.

4. Krishnadeva Raya belonged to the Tuluva dynasty and was
the most famous ruler of the Vijaynagar Empire.

Which of the above statements is/are not correct?

(a) 1 and 4 only

(b) 2 and 3 only

(c) 1, 3 and 4 only

(d)1,2and 3
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67.

68.

69.

70.

71.

72.

73.

f=fafed du R AR &=

1. SIfraareT a1 gdTehis Ul & @ffesic o=k ATgehda 31 SR
3R YRA & UHE IIERM A8 AT & A H g3 Tl

2. SR <l ST & g 14 Sreger, 1919 &t e stiw afafa e
&+ foman mar

SWIFT & § i I1/8 »y= g8t /82
(a) et 1 (b) e 2
(c) 1 3R 2 &t (d)Tat1sikRa82

JURY GATE & Ga¢ § FAefeafea sl R far &

1. 34 HgT et gRT AWURRY il @t voTeft & fEes
fomar

2. IR o A MiefiSh et FuRer oA & forg FAm

3. @R URE 3R I U41E 59 AWE € 93 9

IR & 9 i 1/ a9l 8/8?

(@) 1 3R 2 dhaa (b) 2 3R 3 dhae
(c) 1 3R 3 hae (d)1,23fR3
fafafed wa wR AR =

1. uTiud 6l ugel de1E H areR 3 Rcher et ot gl
2. UFad dl Ugelt A8 aeR A JHT 3R SRET S gegaR 1
3R dtuam &Y U & dFTAe IUTNT & hRuT Sfidt off|

ST hY1 | A hI-91/9 T8 8/8?
(a) e 1 (b) &aret 2
() 13k 2 &t (d) Sufert & @ i gt

1526 ¥ UIUd 3 UUH GG oh T UROMH §4?

1. SR A FuTiae A1 & 16 R A HiTel MH Sl RITIAT i

2. sEIieH airell & Srfehisr STHRER 39 74 & e off disd W|d &1

3. SofeH @ldl & g SATafadl 8k TS & SfHehl = AQ e & ufd
187 @ 3R e e

2 g 71Q e T TRINT &R U T SR <
(a) 13k 2 (b) et 1
(c) S Toft (d)18R3

BT & § TR A g e o= & forg dnfaa Ty @R <y giwon
&Y, foram e oz § 9efag Refafea 8 9 @ 91/3 sy g8t
8/8?

1. 39 Ugelt IR 1988 H wif=a fehar 7 2|

2. foram faer Ul R STeheR i Uk oY a<id IioTT 8|

3. foram e o3 & aaraaifde g fRaer 78! o= ged! 81

I &G 7Tq e T TR B U AT IR &
(a) et 1 (b) et 2 3R 3
(0 132 (d) SwRYert @t

3rreeft sater THmE (ABP) & Teef # fRfaifaa sei = faar &1

1. ZHh! SUT Ugelt IR HeR doie 2022-23 H i 718 oft

2. Y& H 31 7T 3R e 2 v # 500 seAichl i HaR A o
forg srfenm S fokam mam @

3. 3N ey Al fAemra Aol R s sdfal & vasi d gur
AT

IR & @ i I1/9 e I8t &/8?

(a) Thae 1

(b) Shaet 2 3R 3

() haet 1 3R 2

(d) SuRIeT goft

BT B # & I 7 AT fAaRor &= Fie (RDSS) & def A

fAmfofes Fy R faeR &R

(1) 3Gt Iexg Tt fewpmm i ufemer emar ok fa<fia fRRar &
GUR HEATE

74.

75.

76.

77.

(2) T8 Uhigpd faegd faer i (IPDS), &9 carel Iuteary urd
SfY GsTT (DDUG)Y) ot Iifd o ot

SR § I &9 I1/T »y= gt 8/8?
(a) FaeT 1 (b) aeT 2
(c) 1 3R 2 &t (d)yaar1siRag2

AFTeT geforsig fis (NATGRID) & aR # fA=feifEa st wR faer

&

1. g Irdaarntedl, snfdfer sraRmet ok g avg &Y o geren @
Gifera it defara gEaTsH @1 g Rfed Seed gl

2. SHueR SMMUTdaRIe ufdfehar & NATGRID &t sraf-aa- goid!
2l

3. 39 g i Efereia R Aeadh 81

IR T M el H @ Si=-a1/3 9 8/87?

(a) Shaet 1

(b) Shaet 2 3R 3

(c) dhaet 1 3R 3

(d)1,23R3

e 9o Ay Sifder sifafaaw (AFSPA) & deiy # fR=fafad

Y TR R &R

1. Ig g 3R I5T TRHR A1 i fohedt oft & ol sreria & & =4
7 g e a1 SifdeR at 81

2. 39 999 Uge IR gd # ArTets ofR Brger 7 @ frar mar o

3. Ig YA Tl ol SIRMTd &7 & ohid et & fary ARy sifdrepr aar
gl

IR T MU put F T hiF-a91/3 9l &/8?

(a) Fhae 1

(b) Thaet 2 3R 3

(c) haa 1 3R 3

(d)y1,233

YRd & STsh A RUiE 2022 & deof & fmfafad dui ® R

G|

1. 39 Hifa smaiT grRT SR) foRaT man

2. ROt & SrgaR arigwHrHt Ardhe 2021 § R & Tohel W
ITE H TRTHAT 2.6 UfaRId cht ffeRt & fog SRt @1

3. SeEf T IrEgHEE § g9ad g7 e 81

SWiad & @ & 91/ &y 98 /82

(a) dhaet 1 3R 2

(b) haet 2 3R 3

(c) dhaaT 1 3R 3

(d) haet 3

zfeyor wRa & fasaR sy & ddy # Aefaf@a sl R R

&

1. 4d foemug 3 gReR SR gaent ol s amrsg wifdd &
& forg ORd 3R Fa sedh Yeh Hgayut yfient Td|

2. AT & 91E ReER TE R T

3. 1520 #, 39+ sifad 9™ & & #, rm & 3 R A
WS 3T QMg &t &R

4, W I JJd a¥ & ¥ IR ISR Iy & 998 g
M &

SRIad Ul & T i I1/8 Tl T8l 8/&?

(a) haet 1 3R 4

(b) 2 3R 3 Thaat

(c) haa 1,3 3k 4

(d)y1,23R3
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Q78.

Q79.

Q80.

Q8.

Q82.

Q83.

Q84.

With reference to International Big Cat Alliance, consider the

following statements:

1. CITES has recently proposed to launch a global alliance for
big cats with an investment of $100 million.

2. The group will work towards the protection of the seven big
cats — tiger, lion, leopard, snow leopard, puma, jaguar and
cheetah.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following countries were recently affected by
cyclone Freddy?

(a) Malavi

(b) Malaysia

(c) Mexico

(d) Morocco

With reference to Operation Trishul, recently seen in the news,

consider the following statements:

1. It is launched by the Central Bureau of Investigation (CBI)
with the aim to bring fugitives involved in criminal activities
back to India.

2. Operation Trishul involves using Interpol's Star Global Focal
Point Network.

3. It also aims at dismantling support networks and generating
criminal intelligence on shell companies.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Which one of the following activities has not been prohibited
within the Coastal Regulation Zone?

(a) Projects of the Department of Atomic Energy

(b) Storage or disposal of hazardous substances.

(c) Setting up of fish processing units.

(d) All of the above activities are allowed

With reference to the Wetlands (Conservation and Management)

Rules, 2019, consider the following statements:

1. The nodal authority for the implementation of wetland rules
will be the union environment ministry.

2. Expansion of existing industries is allowed in the wetlands.

‘Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct regarding the

National Green Tribunal?

1. Itis constituted under the National Green Tribunal Act 2010.

2. It is bound by the procedure laid down under the Code of
Civil Procedure, 1908.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the Compensatory Afforestation Fund

Management and Planning Authority (CAMPA), which of the

following statements is/are correct?

1. It was constituted by the directions of the Supreme Court of
India.

2. Ttis presided over by the secretary of the Union Environment
Ministry.

Q85.

Q86.

Q87.

QsS.

Q89.

Select the correct answer using the code given below :
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following statements is/are correct regarding the

Joint Forest Management?

1. It was first introduced under the forest conservation act of
1980.

2. It is a partnership involving local communities and forest
agencies.

Select the correct answer using the code given below:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements:

1. In a capitalist economy, the market and private businesses
decide what to create, how much to produce, and at what
price to sell it.

2. In the Socialist Economy, it was stated that the state should
be the only entity to make choices about production, supply,
and prices.

3. India opted to be a Socialist economy in the post
independence period and shifted to a mixed economy post
1991 economic reforms.

Which of the statements given above is/are correct?

(a) 1 and 2 only (b) 1 only
(c) 2 only (d)1,2and3
Consider the following statements with respect to the Functions

of money:
1. Money acts as a medium of exchange.
2. Money can also act as a convenient unit of account.

3. Only Money can act as a store of value for individuals.
Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to Human Development Index (HDI), consider

the following statements:

1. Asper the Human Development Report 2021-22, India’s rank
on the Human Development Index (HDI) has improved from
130 in 2020 to 120 in 2022

2. The theme for Human Development Report 2021-22 is
Uncertain Times, Unsettled Lives: Shaping our Future in a
World in Transformation.

3. HDI is a composite index that measures average
achievement in human development taking into account 3
Dimensions: Health, Education, and Standard of Living.

Which of the statements given above is correct?

(a) 1 only

(b) 2 only

(c) 1 and 3 only

(d1,2and 3

Consider the following statements with respect to the different

types of Unemployment:

1. Disguised Unemployment is a category of unemployment
caused by a mismatch in the skills of workers and the jobs
that are accessible on the market.

2. Structural Unemployment is due to the business cycle, in
which unemployment increases during recessions and
decreases during economic expansion.

3. Seasonal Unemployment refers to the time lag between jobs
when a person is looking for a new one or changing careers.

Which of the statements given above is/are not correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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78.

79.

80.

81.

82.

83.

84.

A faT She Ty & deof & fAmfaf@d suel R faar fifSa:

1. CITES 7 g1 &1 & $100 fafems & fRasr & ary 98t Rfeermt &
g Ueh ek o [ e o UdTa R 1

2. O 91d 93! fafeerdt - &, <R, dgem, e dgan, &, Sem

3R <ar & TReror Y fe=m F 1 |
IR U U el & @ i a1/a Tdl 8/8?
(a) aet 1
(b) haret 2
(c) 1 8fR 2 @t
(d)ysat13iRag2
fefafed & @ e &1 221 g1 81 A =rehara that & gifad gam ar?
(a) Herdt (b) TR
(c) Afraent (d) ARt

BT 81  THERI A & 1Y TR BiRe & deod 7 Ffafad syt

R AR fIfSg:

1. 38 e STra & (CBI) gRT SuRiferes fafafdat & enfaet symet
Y MRT 9199 o o 3629 4 Ar=d fohar T &1

2. AR Ry & gexuld & WR Al tidhel @IS Aedeh o
IUANT A g1

3. ST IeT THAT Acach ol WH AT SR A hu=dl O
STURTTA GithaT SR daT sheT +f 8l

IWR Ry 17 el # @ i 91/ et 8/8?

(a) Thaer 1 3R 2

(b) haet 2 3R 3

(c) haer 1 3R 3

(d)1,23R3

faffea 3 @ o= @ nfaffd 38T _itTem 83 & «fir Rftg 78t
&?

() TRATY JTf 9T i aRIteHg

(b) WaRATeR YT el WSRUT a1 fAuer|

(C) HeSl! TR SehTgal chl TATAT|

(d) Swiaa g+t nfafafeat &t ergafa

STEA (TRetor SR vEeF) fgm, 2019 & e & Ffafea wyat

R faaR HifS:

1. S ot & srafaae & g Fied mifdeeor Hd gafeRor
TATAT T

2. ST F e g & IR & erafd 8l

IR U MY syl § @ hi-41/8 el 2/
(a) et 1 (b) e 2
(c) 18R 2 &t (d)Fat1siRa8E2

A I el & aR A Ffafea A S e ar e wgt 8 / 82
1. SHHI T A W fEegAe gae 2010 & dgd fomar mam 81
2. g RAfae ufshar Tfgar, 1908 & dga RufRa uftrar @ dem 81

=2 g 7T e o1 T R e IR AT
(a) Sheret 1 (b) Thaet 2
(c) 1 3R 2! (d)yTat1sikas2

&1fdgRen a=feheuT Y Teer SR AT UTfdrensor (CAMPA) & Tged
#, A=fofad & @ o 91/8 wu= 9g 8/8?

1. ST TS YR & garsd <urarerd & R grr forar mam o

2. SThl IETAT She 1T YATaRuT HA1erd & IiRg ohid &

=2 g 71 e o1 T R e IR AT

(a) Thaet 1

(b) dhaet 2

(c) 1 3R 2 @t

(dysat1aiRTE2

85.

86.

87.

88.

89.

Ggad o Uee & day J FEfafEa d @ @i a1/3 wu= 98t 8/82

1. 39 ugelt IR 1980 & a1 TRefur ARy & Tga aer fovar man
|

2. I8 U Oiger & Orew g grer ofk o= geifdat anfae &

12 g 7T e o1 T AR Tl IR A

(a) Thaet 1

(b) et 2

(c) 1 3R 2 At

(dysat13RAE2

f=fafed v R AR &

1. gofiardt srefegee #, IR iR it eaam g ad € &
AT &, fohdAT IdTed o & 3R fohg Fimd R 3@ d=AT 81

2. g srfaqawen §, ag el AT o7 R IameH, omgfd efk
Hal & IR F 1T e & I TST HY GRS 3eRTS BT AR

3. AT & §TE h Ay F WRA  THISATE Srefeqawenr &1 g1
frar 8k 1991 & onfdfer Qurl & s MfYd srfegawn |
QEaRd gt i

IR U U Al | @ e 91/ 98l &/8?

(a) Thaa 1 3R 2

(b) haat 1

(c) Shaet 2

(d)1,233

HeT & T & day # FEfefad syt iR R &

1. ge fafwa & A1ead & w9 H rf et gl

2. 9T @1 fi Uk GlAUTseh 31 & w0 F off Hrf o Gehdr 81

3. had B9 gt Afeadl o oY et & H8R & ¥U H Hri e TehdT
gl

IR Ru MU syt A @ i 91/d ugl &/8?

(a) Thad 1 3R 2

(b) a2 3R 3

(c) haa 1 3R 3

(d)y1,2 33

A fdere gaeia (HDI) & dey # fFefafEa sy R faer

A

1. AF9 Ao RUE 2021-22 & gaR, dAHd fawm gaddis
(HDI) TR ¥R <t 3eh 2020 & 130 & YR F< 2022 F 120 &
S8

2. AMa e RUté 2021-22 & o sFweA 28/, Srdces
ATEeT: AT 3R IR & T ac@ &7 S ahiae gl

3. HDI Q& d#Y Yachich g St A4 A # siad Iuafsdy
&t 3 ATl w@re, e IR Sfled wR @ eF # @d g
AT 81

IR U My py=t F @ i 91 gl 8?7
(@) Fae 1 (b) a2
(c) dae 1 3R 3 (d)1,23R3

fafas yepR Y RIS & ey & R=fafed s = R &

1. U=5d RIS SRS i Tep 2oft & STt Afiant & amiere 3R
FTOTR TR IueTsy] HehRal & S8 & hRuT gl &1

2. TRATHP SRISHTRY STUR Teh & BhRUT gidl §, f9d d@dt &
R SRS Fed! & 3fR anfefe fowar & R g Sirdt g1

3. At RIS &1 arad FieelRal & ST & 99 iR 9 8
ST9 ehis S ferT Ueh T AT hiRTR dged ehl deTl e 8T 8idT &

IR U M syt A T i O1/a gt el §/8?

(a) haa 1 3R 2

(b) haa 2 3k 3

(c) a1 3R 3

(d)y1,23R3
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Q90.

QI1.

Q92.

Q93.

Q4.

Q95.

With reference to the National Income Accounting methods,

which of the following statements is/are correct?

1. In the Expenditure method, we add each firm's final
expenditures. Final expenditure is that part of expenditure
which also includes expenditure made for intermediate
purposes.

2. In the product method, we calculate the aggregate annual
value of goods and services produced.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements:

1. GDP deflator does not include prices of imported and
exported goods.

2. The maximum quantity of goods and services the domestic
economy has at its disposal is indicated by the national
disposable income. Current transfers from the rest of the
world i.e, items such as gifts, aids, etc are not part of National
Disposable Income.

Which of the statements given above are not correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) None

‘Which of the following are biofertilizers?
1. Rhizobium

2. Azolla

3. Anabaena

4. Mycorrhizal

5. Azospirillum

Select the correct answer using the code given below:
(a) 1, 2 and 4 only

(b) 2, 3,4 and 5 only

(c) 1, 3 and 5 only

(d1,2,3,4and 5

In the context of connective tissues of animals, consider the

following statements:

1. Connective tissues are most abundant and widely distributed
in the body of complex animals.

2. They range from soft connective tissues to specialized types,
which include cartilage, bone, adipose, and blood.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements:

1. Neurons which are the unit of the neural system are excitable
cells.

2. The neuroglial cells which constitute the rest of the neural
system protect and support neurons.

‘Which of the statements given above is/are not correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

It is a membrane-bound cell organelle that contains digestive
enzymes and is involved with various cell processes. It is involved
in the digestion of dead, injured or defective cells. They may be
used to destroy invading viruses and bacteria. It is also called the
suicidal bag of the cell.

The above paragraph best describes which of the following cell
organelle?

(a) Ribosome

(b) Endoplasmic reticulum

(c) Mitochondria
(d) Lysosome

Q96. Consider the following statements with reference to Vitamins:

1. Vitamins are inorganic substances that we require in adequate
quantities for good health.

2. Vitamins A, B, D, and E are fat solubles whereas Vitamins C
and K are water solubles.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q97. Consider the following statements:

1. Liver is the largest gland of the human body.

2. The hepatic lobules are the structural and functional units of
the liver.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q98. With reference to Kreb's cycle, consider the following statements:

1. It is a series of reactions which occur during anaerobic
respiration.

2. Acetyl-Coenzyme A is partially oxidized to Carbon Dioxide
in this process.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q99. Consider the following statements with respect to the central

nervous system:

1. The junction between two nerve cells is known as the
Synapse.

2. Hind-brain is the main thinking part of the human brain.

3. The cerebellum is responsible for the maintenance of posture,
balance and equilibrium.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3
Q100.Consider the following statements with respect to
Xenotransplantation :

1. In Xenotransplantation, human tissue or organs are edited
and transplanted back into the human body.

2. TItinvolves CRISPR CaS 9 technologies.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above
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920.

91.

92.

93.

94.

95.

Iy 31T Aaich fafdal & deuf 8, efafaa & @ s ar/a wew

q—a%/?,?
. g RAfY §, g0 ude i & oifaw =ag =t siied &)1 sifaw =,
g &1 g8 9T & 98 gegad] gatet & fog fasar mar e oft
LM giar 81

2. IS UGH H, g Ianed awgait ok Fareil & gt arftfen e
&Y T R B

12 g 7T e o1 T R Tl IR gF:

(a) Shaet 1

(b) et 2

(c) 1 3R 2 @t

(dyar13iRad2

fAfofEa F R AR

1. GDP sruhifdere & smafaa ofik fFaiffaa agget & Himd
MAA gl gielt 1

2. W rfHaw & Fueq 7 aegsit ofk darsit Gt sifdean A
T TS o gRT S &t S g1 QW fay & adeam
WHIAR0T UTd IUER, FERAT 31fe S aXgE TENT Tty 3
o1 feean =18 8

IR Y MY eyl # T -8 Tt T8 &2

(a) had 1

(b) Shaet 2

(c) haet 1 3fR 2

d) &ig et

famfofed & 9 @ S Sk &2
1. Tgetead

2. 3fSher

3. 3FEHT

4. ATZHRRISSIA

5. ueifaRem

12 g 7T e o1 T R el IR [
(a) Fact 1,2 3R 4

(b) haet 2, 3, 4 3R 5

(c) Hhaet 1,3 3R 5
(d)1,2,3,43R5

Sigail o TSl Sdl & e # FAfafed weel iR faar fiew:

1. Sifed Sigert & SRR 7 TSI S T8 TR A 7 3R amush
¥ 3 faaRka gl &

2. 3 RY GHISht Fdhl T de Aty gaR Je gla &, o= o,
Bel, a9 3fR o WA &1

IR u g syt A @ i 91/a Tl 8/8?

(a) Thaet 1

(b) et 2

(c) 1 3R 2 @t

(dysat1aiRTE2

fRefafaa wu R AR &

1. IR W dfAewT I H 3RS 8, ST RIfAHT &

2. RIferaet RRAHY it 1t dfer d=t o Fafor st §, =
&Y 281 3R gHdT &l B

SR U Y At # & i @1/ TEt T8 8/8?

(a) Thae 1

(b) &aet 2

(c) 18R 2 &t

(d)ysTat1aiRag2

g Gk fieeh-ag ahifrent 31T & foras ura= Gotie gia & ofk RfY=
Hifrent ufckarstt & nfie g €1 a8 74, ara ar oyt wifemrei

96.

97.

98.

929.

100.

& e H A g1 &1 Ik SUTNT gHTER a1y 3R SR &t
I8 e & forg fovar ST GopdT &1 39 Sifet it srarETat Jeft oft
Hed &l

SR IR Refafea & @ g it 3t &1 gad sreeT guie

faerf= & deof & efafad su R AR &

1. faafmm s ueref § Sad & ord wrea & g yaia
T | 3TTehdT gl 2|

2. faaf= A, B, D 3R E g@r # gemisiie ¢ safcs fderfia C siR &
ot & germehia

IR Y U i A @ i a1/a g &/8?

(a) haet 1

(b) haet 2

(c) 18R 2 &t

(dyssat1ikag2

f=fafaa s = AR &

1. ofteR Ad RR Fit 9o T8t Ui g1

2. Id cAIege gohd hl TXATHD IR HfHeh ghredi &
FWR 7 MY syt & @ i 9r/@ Tg /82

(a) Fhae 1

(b) dheret 2

(c) 1 3R 2 &t

(dyat1aiRTE2

thel Teh oh Tl A AEfaifRad syl R IR fifs:

1. g A 49 & AR g1 arett ufdfoharstt &Y g gj@er g1

2. 39 ufshar & uflerse - didssd T ofifes ®u @ oeq
SISSiiaTSs # Sifeiiepd &l ST 81

IR T U el A @ i a1/d ggt &/8?

(a) Thaat 1

(b) thaet 2

(c) 1 3R 2=t

(d)yaat13RaE2

T ifent a7 & ey # AEfafed syl «) R &

1. & dfenr Fifrersi & g & g fig & R & = F s
I

2. UT-AfKsh A AT o1 g e aret 9T gl

3. RATH S, e 3R Tge & T & forg forer &1

IR A T i 1/ hu 9t /87

(a) 1 3R 2 Thaat

(b) 2 3R 3 Thaat

(c) 1 3R 3 Fhaat

(d)1,23R3

STHIgTEesE (Xenotransplantation) & &y # Ffafed

FHU IR faaR e

1. Ui |, AMd ddh a1 i dl Jutfed aeah amog
AME RR J ARITUG fRar s g1

2. 3949 CRISPR Ca$ 9 Wenfifeai snfae

S & & I I1/3 e T /82

(a)aam

(b)ahaet

(€)1 @zzaﬁ:ﬁ

(d)z3 @ aig ot 8t
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